2A: BB
M S EHFUMEHICD
ol B|EOIFOIMEHITD (cHel @)
5 T PSS
SN SABA) - NEAY - BES Off & o 0l At o Hm=2
IR 815,648 704,558 111,090
SEHFUMEHICD 189,330 164,030 25,300
SEHFUYEHIATE 189,330 164,030 25,300
2 FRUXNXNH 2 125,880 122,880 3,000
201 g2y 3,000 0 3,000
03 A2 3,000 0 3,000
O NHETALE 3,000
301 dEt2a=3 122,880 122,880 0
05 S-cl-dEs2e= 118,080 118,080 0
O 8 - 2 ¢& gst| 118,080
- = g 200,000 36« 123 86,400
-4 0= 200,000& »36H *23] 14,400
- sloay 20,0008 362 x25] x 122 17,280
12 JIEt2d= 4,800 4,800 0
O FAMIIMEIZA S
12,5003 x2& 16 Al 2t 12E 4,800
A2 FEUEE 2502 ALY 43,000 33,000 10,000
101 el 3,000 3,000 0
10 JIAH22XSES 3,000 3,000 0
O Jtzg ™Y S ALY 3,000
206 M=Hl 25,000 20,000 5,000
01 Mz 25,000 20,000 5,000
O Jizd #A™Y S Me7Y 25,000
401 AlEZHI X RO 15,000 10,000 5,000
01 Al&H] 15,000 10,000 5,000
O ARR2FUSHABHZ AL LI 15,000
580 goAs Al 8,700 6,400 2,300
101 el 4,700 4,200 500
10 JIZH22NSEF 4,700 4,200 500
O goasolzel 4,700
206 M=Hl 4,000 2,200 1,800
01 =4 4,000 2,200 1,800
O gelss SRR 4,000




A 8™
B S EUFOMBHITD
el SlEDIFDIMEHO T (el @)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
38 B2ES2X M=&H 1,750 1,750 0
101 214 d| 1,750 1,750 0
10 JI2ZtHIZ2EXNSE S 1,750 1,750 0
O Z2sEIH=&go2 1,750
IEH HAL2e (EXg2zZs) 10,000 0 10,000
401 AIEHIZ 20| 10,000 0 10,000
01 Al&H| 10,000 0 10,000
O A =2XE TN 10,000
HEM2AAH| (38 H) 626,318 540,528 85,790
olad=2dH|(3l8H) 553,698 477,060 76,638
olad=2dy| (38 dH) 553,698 477,060 76,638
101 ©olAH| 521,438 446,740 74,698
01 222 301,394 268,364 33,030
O = = 282,556
-5 = 2,961,300& 12 x12& 35,536
-6 = 2,427 ,400& x3H x12H 87,387
-7 = 2,099,800 x4H x12& 100, 791
-8 = 1,583,300 x2H x12& 38,000
-9 = 868,400& x2H x12& 20,842
O d3z2=Y 282,556,000 *0.8/12 18,838
02 = 95,332 66,094 29,238
O AADR4g
7,457 3 %45 2+ x13H + 122 52,349
O IHESY 9,600
-t 2 X 40,0003 x8H x12& 3,840
-2 2= 20,000 x24H x12& 5,760
O AESHIEx=E 5,462
- 1NEsM 420,790 *3H x4 3| 5,050
- s M 51,490& x2H x4 3| 412
O lHesRIY 282,556,000 *x4/12%4 .8% 4,521
O Sx=g22Y 11,400
-0 HRLE 30,000& x2H x12& 720
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S BE
M. HYSHHH(SISH)
SRl OIESHH| (S H) (&2 &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
- A3 SR = 30,000 x2H «12& 720
-Jl=g2sd 30,0003 x2H x12& 720
-SHIRY 70,000& x11H «12& 9,240
O dZ2xgit=2 12,000
- 54 0| &~10E 0] 2t 50,000& x1H x12& 600
— 1549 0] &~20A 0] Bt 80,000& x4 «12& 3,840
- 204 0] &H~254 0] Bt 110,000& x1H =122 1,320
- 253" 0] At 130,000 x4 = 12& 6,240
03 HHZAH| 18,720 17,160 1,560
O dHzAH| 130,000 * 12 = 12& 18,720
04 WSEXEH| 18,360 16,920 1,440
O WE2=xt| 18,360
-5 = 140,000& x1H = 12& 1,680
-6~7= 130,000x7H x12& 10,920
-8~9 2 120,000& *4H =12 5,760
05 Y&ESIHHI 28,256 25,160 3,096
O 9ZE=ItH| 282,556,000 =1/ 12x60%*23] 28,256
06 JHAHRXI&HYI 47,187 42,016 5,171
O JtAX 2| 282,556,000& *x16.7% 47,187
07 HJE A 12,189 11,026 1,163
O ¢824 = 282,556,000 x11/255 12,189
203 YRF&XH| 10,120 9,440 680
01 JI22SIYERF=&| 6,600 6,000 600
O JA2HHRFAH| 6,600
02 HIAIMNMHARF=AH| 520 440 80
O FEIHERF=ZAH| 40,000& %134 520
04 RENSIELER=AHI 3,000 3,000 0
O EM2IIERFAH| 250,000& x12& 3,000
204 Moz 22,140 20,880 1,260
01 MHZIHRHAHH| 1,800 1,800 0
O N#ZHRFAY| 150,000 x12& 1,800
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SN BB
M. HYSHHH(SISH)
SRl OIESHH| (S H) (&2 &)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
02 ANZE=xH| 20,340 19,080 1,260
O A3 XH| 20,340
-5 = 250,000& x1H «12& 3,000
-6 = 155,000 *x3H x 122 5,580
-7 = 140,000& *4H = 122 6,720
-8 ~9 2 105,000 *4H «12& 5,040
Jl2ddl(slsdH) 72,620 63,468 9,152
JI2d8I(g&H) 72,620 63,468 9,152
201 B2 IH| 48,000 42,953 5,047
01 AR 22|l 24,000 30,953 AN6,953
O H HRFEX AR 22l 24,000
02 2224t 24,000 12,000 12,000
O o gRFA =329H| 24,000
202 O] 22,920 19,515 3,405
01 ZUWdH| 4,200 3,675 525
O YHPI=A ¢yl 4,200
02 MO 18,720 15,840 2,880
O EAHAbI 120,000 *13H x12& 18,720
405 KHaHE S H] 1,700 1,000 700
01 AANLEEFSHI 1,700 1,000 700
O MBANAHAH 2L 1,700,000 = 1CH 1,700
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